

# ATTACHMENT 2: ACTIVE BIDDER BID RESULTS REPORT WITH COST SUMMARY COMPARISON

**Tel**: (951) 956-2120

Storm Drain System Maintenance, Inspections and Related Services (Specification #FCD 1-2023-24-01) Cost Summary Comparison

# **Costs Submitted**

Downstream Services, Inc.			Ocean	Ocean Blue Environmental Services, Inc.			United Storm Water, Inc.					
Year	North		South		North		South		North		South	
Y1	\$	750,142.04	\$	396,319.00	\$	916,816.25	\$	211,097.00	\$	973,771.00	\$	279,645.00
Y2	\$	376,536.00	\$	809,307.28	\$	223,271.00	\$	926,196.50	\$	301,711.00	\$	997,293.00
<b>Total Cost</b>	\$	1,126,678.04	\$	1,205,626.28	\$	1,140,087.25	\$	1,137,293.50	\$	1,275,482.00	\$ 1	1,276,938.00

Lowest Proposal North\*: \$ 1,126,678.04

Lowest Proposal South\*\*: \$ 1,137,293.50

<sup>\*</sup> Proposal Submitted by Downstream Services, Inc.

<sup>\*\*</sup> Proposal Submitted by Ocean Blue Environmental Services, Inc.



Bid details for: Roberts , Loren / Downstream Services, Inc.

lten	1	UM	Qty	Unit Pricing	Item Total
BAS	SE BID ITEMS - NORTH				
				Subtotal	
A.Y	EAR 1 [and Year 3 (first year of the two 1-year contract exten	sions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$224	\$76,160
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$2	\$680
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$502	\$121,484
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$3	\$726
5	Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$390	\$390
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$3	\$3
7	Provide and install painted stencil message, per plans and specifications (annually)	EA	541	\$5	\$2,705
8	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$316	\$45,504
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	8	\$2	\$16
10	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	83,865	\$1.33	\$111,540.45
11	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	27,112	\$2.77	\$75,100.24
12	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	110,977	\$1.35	\$149,818.95
13	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	12,980	\$2.77	\$35,954.6



## Bid details for: Roberts , Loren / Downstream Services, Inc.

lten		UM	Qty	Unit Pricing	Item Total
14	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	12,980	\$0.96	\$12,460.8
15	Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$3,383	\$40,596
16	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic separators, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1	\$12
17	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$4,826	\$19,304
18	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1	\$4
19	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$3,147	\$3,147
20	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1	\$1
21	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$6,087	\$12,174
22	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1	\$2
23	Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$2,561	\$2,561
24	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)SU 20-25 per plans and specifications (once-every two years)	EA	1	\$1	\$1
25	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$9,052	\$27,156
-					



## Bid details for: Roberts , Loren / Downstream Services, Inc.

		UM	Qty	Unit Pricing	Item Total
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1	\$3
27	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$5,457	\$5,457
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1	\$1
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$7,179	\$7,179
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
				Subtotal	\$750,142.04
В. Ү	EAR 2 [and Year 4 (second year of the two 1-year extension:	s)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$231	\$78,540
2	•	EA	340	\$231 \$2	\$78,540 \$680
	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and				· ·
2	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS	EA	340	\$2	\$680
3	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and	EA EA	340	\$2 \$517	\$680 \$125,114
3 4	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM	EA EA	340 242 242	\$2 \$517 \$3	\$680 \$125,114 \$726
3 4	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and	EA EA EA	340 242 242	\$2 \$517 \$3 \$402	\$680 \$125,114 \$726 \$402



## Bid details for: Roberts , Loren / Downstream Services, Inc.

Item		UM	Qty	Unit Pricing	Item Total	
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$2	\$288	
10	Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$3,485	\$41,820	
11	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic separators, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1	\$12	
12	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$4,971	\$19,884	
13	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1	\$4	
14	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$3,241	\$3,241	
15	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1	\$1	
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$6,270	\$12,540	
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1	\$2	
18	Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$2,637	\$2,637	
19	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$1	\$1	
20	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$9,324	\$27,972	
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1	\$3	



## Bid details for: Roberts , Loren / Downstream Services, Inc.

,					
Item		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$5,621	\$5,621
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1	\$1
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$7,394	\$7,394
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
				Subtotal	\$376,536
BAS	SE BID ITEMS - SOUTH				
				Subtotal	
YEA	R 1 [and Year 3 (first year of the two 1-year contract extensi	ons)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	523	\$224	\$117,152
2	Inspect, photo document, and log conditions before and after cleaning of catch basins, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$502	\$59,738
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$260	\$780
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$238	\$1,904
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16



## Bid details for: Roberts , Loren / Downstream Services, Inc.

Item		UM	Qty	Unit Pricing	Item Total
9	Provide and install painted stencil message per plans and specifications (annually)	EA	599	\$5	\$2,995
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$316	\$98,592
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28
12	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$6,706	\$20,118
13	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$1	\$3
14	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$8,580	\$8,580
15	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$1	\$1
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$3,866	\$7,732
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$1	\$2
18	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$4,826	\$4,826
19	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$1	\$1
20	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$6,087	\$6,087
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$1	\$1



## Bid details for: Roberts , Loren / Downstream Services, Inc.

ltem		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$4,747	\$4,747
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$1	\$1
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans specifications (annually)	EA	1	\$7,179	\$7,179
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
26	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans specifications (annually)	EA	1	\$5,693	\$5,693
27	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$1	\$1
28	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$5,457	\$10,914
29	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$1	\$2
30	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$9,052	\$9,052
31	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$1	\$1
32	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$10,361	\$10,361
33	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$1	\$1



## Bid details for: Roberts , Loren / Downstream Services, Inc.

Item		UM	Qty	Unit Pricing	Item Total
34	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$14,530	\$14,530
35	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$1	\$1
36	Remove and dispose of debris from Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$1,934	\$3,868
37	Inspect, photo document and log conditions before and after cleaning of Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and Specifications (annually)	EA	2	\$1	\$2
				Subtotal	\$396,319
YEA	R 2 [and Year 4 (second year of the two 1-year contract exte	nsions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year	EA	523	\$231	\$120,813
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$517	\$61,523
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$268	\$804
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$245	\$1,960
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16
9	Provide and install painted stencil message, per plans and specifications (annually)	EA	599	\$5	\$2,995



## Bid details for: Roberts , Loren / Downstream Services, Inc.

ltem		UM	Qty	Unit Pricing	Item Total	
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$325	\$101,400	
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28	
12	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	101,902	\$1.37	\$139,605.74	
13	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	18,739	\$2.85	\$53,406.15	
14	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	120,641	\$1.39	\$167,690.99	
15	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$2.85	\$30,096	
16	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$0.99	\$10,454.4	
17	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$6,907	\$20,721	
18	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$1	\$3	
19	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$8,837	\$8,837	
20	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$1	\$1	
21	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$3,982	\$7,964	
22	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$1	\$2	



## Bid details for: Roberts , Loren / Downstream Services, Inc.

Item		UM	Qty	Unit Pricing	Item Total	
23	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$4,971	\$4,971	
24	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$1	\$1	
25	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$6,270	\$6,270	
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$1	\$1	
27	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$4,890	\$4,890	
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$1	\$1	
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$7,394	\$7,394	
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1	
31	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$5,864	\$5,864	
32	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$1	\$1	
33	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$5,621	\$11,242	
34	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$1	\$2	
35	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$9,324	\$9,324	



## Bid details for: Roberts , Loren / Downstream Services, Inc.

Item		UM	Qty	Unit Pricing	Item Total
cleaning of Hydrody 16000 (VX16000) p (annually)Inspect, p and after cleaning o	ment, and log conditions before and after namic Separator, Model Vortech Unit er plans and specifications hoto document, and log conditions before f Hydrodynamic Separator, Model Vortech 10) per plans and specifications (annually)	EA	1	\$1	\$1
	e of debris from Hydrodynamic Separator, rm Water Interceptor Model JPHV-15000 fications (annually)	EA	1	\$10,667	\$10,667
cleaning of Hydrody	ment and log condition before and after namic Separator, Jensen Precast Storm odel JPHV-15000 per plans and ally)	EA	1	\$1	\$1
	e of debris from Hydrodynamic Separator, rm Water Interceptor Model JPHV-20000 annually)	EA	1	\$14,960	\$14,960
cleaning of Hydrody	ment and log condition before and after namic Separator, Jensen Precast Storm odel JPHV-20000 per plans and ally)	EA	1	\$1	\$1
· ·	e of debris from Hydrodynamic Separator, 00 (VX1000) per plans and specifications	EA	2	\$1,992	\$3,984
cleaning of Hydrody	ment and log conditions before and after namic Separator, Vortech System 1000 and specifications (annually)	EA	2	\$1	\$2
				Subtotal	\$809,307.28
				Project Total	\$2,332,304.32



## File attachment details for: Roberts , Loren / Downstream Services, Inc.

File name	Description	Туре	Size	Notes
Bid Bond	Additional	pdf	315.2 Kb	Bid Bond
Downstream Services Bid Submittal 8	Additional	pdf	5.5 MB	Downstream Services Bid Submittal 8.2.23



# Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Iten		UM	Qty	Unit Pricing	Item Total
BAS	SE BID ITEMS - NORTH				
				Subtotal	
A.Y	EAR 1 [and Year 3 (first year of the two 1-year contract exten	sions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$149	\$50,660
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$2	\$680
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$225	\$54,450
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$3	\$726
5	Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$2,400	\$2,400
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$3	\$3
7	Provide and install painted stencil message, per plans and specifications (annually)	EA	541	\$18	\$9,738
8	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$30	\$4,320
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	8	\$2	\$16
10	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	83,865	\$3.25	\$272,561.25
11	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	27,112	\$4	\$108,448
12	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	110,977	\$2	\$221,954
13	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	12,980	\$5	\$64,900



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

	UM	Qty	Unit Pricing	Item Total
nspect, video document (CCTV Inspection), and log onditions after cleaning of all Reinforced Concrete Box RCB), per plans and specifications (once-every two years)	LF	12,980	\$2	\$25,960
Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and pecifications (annually)	EA	12	\$3,850	\$46,200
nspect, photo document, and log conditions before and after leaning of Hydrodynamic separators, CDS Model PSW 30-30 CDS3030) per plans and specifications (annually)	EA	12	\$150	\$1,800
Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications annually)	EA	4	\$3,850	\$15,400
nspect, photo document, and log conditions before and after leaning of Hydrodynamic Separators, Model Vortech 5000 VX5000) per plans and specifications (annually)	EA	4	\$150	\$600
Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications annually)	EA	1	\$3,850	\$3,850
nspect, photo document, and log conditions before and after leaning of Hydrodynamic Separator, Model Vortech 3000 VX3000) per plans and specifications (annually)	EA	1	\$150	\$150
Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications annually)	EA	2	\$3,850	\$7,700
nspect, photo document, and log conditions before and after leaning of Hydrodynamic Separator, Model Vortech 9000 VX9000) per plans and specifications (annually)	EA	2	\$150	\$300
Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and pecifications (annually)	EA	1	\$3,850	\$3,850
nspect, photo document, and log conditions before and after leaning of Hydrodynamic Separator, Model CDS Unit PMSU 0-25 (CDS2025) per plans and specifications (annually)SU 0-25 per plans and specifications (once-every two years)	EA	1	\$150	\$150
Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications annually)	EA	3	\$3,850	\$11,550
	anditions after cleaning of all Reinforced Concrete Box RCB), per plans and specifications (once-every two years) emove and dispose of debris from Hydrodynamic Separator, DS Model PSW 30-30 (CDS3030) per plans and pecifications (annually) espect, photo document, and log conditions before and after eaning of Hydrodynamic separators, CDS Model PSW 30-30 cDS3030) per plans and specifications (annually) emove and dispose of debris from Hydrodynamic Separator, lodel Vortech 5000 (VX5000) per plans and specifications annually) espect, photo document, and log conditions before and after eaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually) emove and dispose of debris from Hydrodynamic Separator, lodel Vortech 3000 (VX3000) per plans and specifications annually) espect, photo document, and log conditions before and after eaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually) emove and dispose of debris from Hydrodynamic Separator, lodel Vortech 9000 (VX9000) per plans and specifications (annually) espect, photo document, and log conditions before and after eaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually) emove and dispose of debris from Hydrodynamic Separator, lodel CDS Unit PMSU 20-25 (CDS2025) per plans and pecifications (annually)  spect, photo document, and log conditions before and after eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and pecifications (annually)  spect, photo document, and log conditions before and after eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)SU 20-25 per plans and specifications (once-every two years)  emove and dispose of debris from, Hydrodynamic Separator, lodel Vortech 16000 (VX16000) per plans and specifications	Isspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years) emove and dispose of debris from Hydrodynamic Separator, DS Model PSW 30-30 (CDS3030) per plans and pecifications (annually)  Isspect, photo document, and log conditions before and after eaning of Hydrodynamic separators, CDS Model PSW 30-30 (DS3030) per plans and specifications (annually)  EA emove and dispose of debris from Hydrodynamic Separator, lodel Vortech 5000 (VX5000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model Vortech 3000 (VX9000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and obecifications (annually)  EA eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  EA eaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually) Su 20-25 (CDS2025) per	Ispect, video document (CCTV Inspection), and log LF 12,980 anditions after cleaning of all Reinforced Concrete Box RCB), per plans and specifications (once-every two years)  emove and dispose of debris from Hydrodynamic Separator, DS Model PSW 30-30 (CDS3030) per plans and specifications (annually)  spect, photo document, and log conditions before and after eaning of Hydrodynamic separators, CDS Model PSW 30-30 (DS3030) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 4 (added Vortech 5000 (VX5000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 4 (added Vortech 5000 (VX5000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 4 (added Vortech 3000 (VX3000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added Vortech 3000 (VX3000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added Vortech 9000 (VX9000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 2 (added Vortech 9000 (VX9000) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 2 (added CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  emove and dispose of debris from Hydrodynamic Separator, EA 1 (added CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)  emove and dispose of debris from, Hydrodynamic Separator, EA 1 (added CDS Unit PMSU 20-2	spect, video document (CCTV Inspection), and log LF 12,980 \$2 onditions after cleaning of all Reinforced Concrete Box RCB), per plans and specifications (once-every two years) semove and dispose of debris from Hydrodynamic Separator, DS Model PSW 30-30 (CDS3030) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic separators, CDS Model PSW 30-30 (DS3030) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separators, CDS Model PSW 30-30 (DS3030) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model CDS Unit PMSU 2-25 (CDS2025) per plans and specifications (annually) spect, photo document, and log conditions before and after earning of Hydrodynamic Separator, Model CDS Unit PMSU 2-25 (CDS2025) per plans and specifications (annually) spect, photo document, and log conditions (annually) spect, photo document, and log conditions (annuall



# Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

	1	UM	Qty	Unit Pricing	Item Total
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$150	\$450
27	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$150	\$150
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$150	\$150
				Subtotal	\$916,816.25
В. Ү	EAR 2 [and Year 4 (second year of the two 1-year extension:	s)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$149	\$50,660
2		EA	340	\$149 \$2	\$50,660 \$680
	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and				
2	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS	EA	340	\$2	\$680
3	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and	EA	340	\$2 \$225	\$680 \$54,450
3 4	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM	EA EA	340 242 242	\$2 \$225 \$3	\$680 \$54,450 \$726
3 4	per plans and specifications (2 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and	EA EA EA	340 242 242 1	\$2 \$225 \$3 \$2,400	\$680 \$54,450 \$726 \$2,400



# Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$2	\$288
10	Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$3,850	\$46,200
11	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic separators, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$150	\$1,800
12	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$3,850	\$15,400
13	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$150	\$600
14	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
15	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$150	\$150
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$150	\$300
18	Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
19	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$150	\$150
20	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$3,850	\$11,550
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$150	\$450



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$150	\$150
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$150	\$150
				Subtotal	\$223,271
BAS	E BID ITEMS - SOUTH				
				Subtotal	
YEA	R 1 [and Year 3 (first year of the two 1-year contract extension	ons)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	523	\$149	\$77,927
2	Inspect, photo document, and log conditions before and after cleaning of catch basins, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$225	\$26,775
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$1,600	\$4,800
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$1,000	\$8,000
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
9	Provide and install painted stencil message per plans and specifications (annually)	EA	599	\$18	\$10,782
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$30	\$9,360
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28
12	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$3,850	\$11,550
13	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$150	\$450
14	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
15	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$150	\$150
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$150	\$300
18	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
19	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$150	\$150
20	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$150	\$150



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$150	\$150
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans specifications (annually)	EA	1	\$3,850	\$3,850
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$150	\$150
26	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans specifications (annually)	EA	1	\$3,850	\$3,850
27	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$150	\$150
28	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
29	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$150	\$300
30	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
31	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$150	\$150
32	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
33	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$150	\$150



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
34	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
35	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$150	\$150
36	Remove and dispose of debris from Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
37	Inspect, photo document and log conditions before and after cleaning of Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and Specifications (annually)	EA	2	\$150	\$300
				Subtotal	\$211,097
YEA	R 2 [and Year 4 (second year of the two 1-year contract exte	ensions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year	EA	523	\$149	\$77,927
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$225	\$26,775
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$1,600	\$4,800
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$1,000	\$8,000
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16
9	Provide and install painted stencil message, per plans and specifications (annually)	EA	599	\$18	\$10,782



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

ltem		UM	Qty	Unit Pricing	Item Total
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$10	\$3,120
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28
12	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	101,902	\$3.25	\$331,181.5
13	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	18,739	\$4	\$74,956
14	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	120,641	\$2	\$241,282
15	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$5	\$52,800
16	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$2	\$21,120
17	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$3,850	\$11,550
18	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$150	\$450
19	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
20	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$150	\$150
21	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
22	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$150	\$300



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

ltem		UM	Qty	Unit Pricing	Item Total
23	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
24	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$150	\$150
25	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$150	\$150
27	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$150	\$150
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$150	\$150
31	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
32	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$150	\$150
33	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
34	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$150	\$300
35	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$3,850	\$3,850



## Bid details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

Item		UM	Qty	Unit Pricing	Item Total
36	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$150	\$150
37	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$3,850	\$3,850
38	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$150	\$150
39	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per Specifications (annually)	EA	1	\$3,850	\$3,850
40	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$150	\$150
41	Remove and dispose of debris from Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$3,850	\$7,700
42	Inspect, photo document and log conditions before and after cleaning of Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$150	\$300
				Subtotal	\$926,196.5
				Project Total	\$2,277,380.75



## File attachment details for: ANGUIANO, CHRIS / OCEAN BLUE ENVIRONMENTAL

File name	Description	Туре	Size	Notes
230000 - COP - Proposal	Additional	pdf	4.6 MB	



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Iten	ı	UM	Qty	Unit Pricing	Item Total
ВА	SE BID ITEMS - NORTH				
				Subtotal	
A.Y	EAR 1 [and Year 3 (first year of the two 1-year contract exten	sions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$322	\$109,480
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$2	\$680
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$540	\$130,680
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	242	\$3	\$726
5	Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$540	\$540
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and specifications (3 times per year)	EA	1	\$3	\$3
7	Provide and install painted stencil message, per plans and specifications (annually)	EA	541	\$1	\$541
8	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$5	\$720
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	8	\$2	\$16
10	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	83,865	\$3	\$251,595
11	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	27,112	\$3	\$81,336
12	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	110,977	\$2	\$221,954
13	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	12,980	\$7	\$90,860



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
14	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	12,980	\$3	\$38,940
15	Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1,827	\$21,924
16	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic separators, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1	\$12
17	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1,827	\$7,308
18	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1	\$4
19	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1,827	\$1,827
20	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1	\$1
21	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1,827	\$3,654
22	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1	\$2
23	Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$1,827	\$1,827
24	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)SU 20-25 per plans and specifications (once-every two years)	EA	1	\$1	\$1
25	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1,827	\$5,481



## Bid details for: Perry, Lydia / United Storm Water, Inc.

	1	UM	Qty	Unit Pricing	Item Total
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1	\$3
27	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1,827	\$1,827
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1	\$1
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1,827	\$1,827
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
				Subtotal	\$973,771
В. Ү	EAR 2 [and Year 4 (second year of the two 1-year extension:	s)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	340	\$332	\$112,880
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)	EA	340	\$2	\$680
3	cleaning of catch basins and inlets, per plans and	EA	340	\$2 \$570	\$680 \$137,940
	cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS				
3	cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and	EA	242	\$570	\$137,940
3	cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM	EA EA	242	\$570 \$3	\$137,940 \$726
3 4 5	cleaning of catch basins and inlets, per plans and specifications (2 times per year)  Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)  Remove and dispose of debris from catch basins with REM Units, per plans and specifications (3 times per year)  Inspect, photo document, and log conditions before and after cleaning of catch basins with REM Units, per plans and	EA EA	242 242 1	\$570 \$3 \$570	\$137,940 \$726 \$570



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
9	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	LF	144	\$4	\$576
10	Remove and dispose of debris from Hydrodynamic Separator, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1,882	\$22,584
11	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic separators, CDS Model PSW 30-30 (CDS3030) per plans and specifications (annually)	EA	12	\$1	\$12
12	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1,882	\$7,528
13	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separators, Model Vortech 5000 (VX5000) per plans and specifications (annually)	EA	4	\$1	\$4
14	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1,882	\$1,882
15	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 3000 (VX3000) per plans and specifications (annually)	EA	1	\$1	\$1
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1,882	\$3,764
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 9000 (VX9000) per plans and specifications (annually)	EA	2	\$1	\$2
18	Remove and dispose of debris from Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$1,882	\$1,882
19	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model CDS Unit PMSU 20-25 (CDS2025) per plans and specifications (annually)	EA	1	\$1	\$1
20	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1,882	\$5,646
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 16000 (VX16000) per plans and specifications (annually)	EA	3	\$1	\$3



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1,882	\$1,882
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 7000 (VX7000) per plans and specifications (annually)	EA	1	\$1	\$1
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1,882	\$1,882
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
				Subtotal	\$301,711
BAS	SE BID ITEMS - SOUTH				
				Subtotal	
YEA	R 1 [and Year 3 (first year of the two 1-year contract extension	ons)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year)	EA	523	\$303	\$158,469
2	Inspect, photo document, and log conditions before and after cleaning of catch basins, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$609	\$72,471
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$303	\$909
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$303	\$2,424
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16



## Bid details for: Perry, Lydia / United Storm Water, Inc.

ltem		UM	Qty	Unit Pricing	Item Total
9	Provide and install painted stencil message per plans and specifications (annually)	EA	599	\$1	\$599
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$5	\$1,560
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28
12	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$2,319	\$6,957
13	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$1	\$3
14	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$2,319	\$2,319
15	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$1	\$1
16	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$2,319	\$4,638
17	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$1	\$2
18	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$2,319	\$2,319
19	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$1	\$1
20	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$2,319	\$2,319
21	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$1	\$1



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
22	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$2,319	\$2,319
23	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$1	\$1
24	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans specifications (annually)	EA	1	\$2,319	\$2,319
25	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
26	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans specifications (annually)	EA	1	\$2,319	\$2,319
27	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$1	\$1
28	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$2,319	\$4,638
29	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$1	\$2
30	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$2,319	\$2,319
31	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$1	\$1
32	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$2,319	\$2,319
33	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$1	\$1



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item	·	UM	Qty	Unit Pricing	Item Total
34	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$2,319	\$2,319
35	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$1	\$1
36	Remove and dispose of debris from Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$2,319	\$4,638
37	Inspect, photo document and log conditions before and after cleaning of Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and Specifications (annually)	EA	2	\$1	\$2
				Subtotal	\$279,645
YEA	R 2 [and Year 4 (second year of the two 1-year contract exte	nsions)]			
1	Remove and dispose of debris from catch basins and Inlets, per plans and specifications (2 times per year	EA	523	\$313	\$163,699
2	Inspect, photo document, and log conditions before and after cleaning of catch basins and inlets, per plans and specifications (2 times per year)	EA	523	\$2	\$1,046
3	Remove and dispose of debris from catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$628	\$74,732
4	Inspect, photo document, and log conditions before and after cleaning of catch basins with CPS Units, per plans and specifications (3 times per year)	EA	119	\$3	\$357
5	Remove and dispose of debris from catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$313	\$939
6	Inspect, photo document, and log conditions before and after cleaning of catch basins with REM inlet filter Units, per plans and specifications (2 times per year)	EA	3	\$2	\$6
7	Remove and dispose of debris from catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$313	\$2,504
8	Inspect, photo document, and log conditions before and after cleaning of catch basins with ARS Screen and REM inlet Units, per plans and specifications (2 times per year)	EA	8	\$2	\$16
9	Provide and install painted stencil message, per plans and specifications (annually)	EA	599	\$1	\$599



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
10	Remove and dispose of debris from under sidewalk drain, per plans and specifications (2 times per year)	LF	312	\$5	\$1,560
11	Inspect, photo document, and log conditions before and after cleaning of under sidewalk drain, per plans and specifications (2 times per year)	EA	14	\$2	\$28
12	Remove and dispose of debris from all structures and pipe 36â in Diameter and Under, per plans and specification (once- every two years)	LF	101,902	\$3	\$305,706
13	Remove and dispose of debris from all transitions and pipe Over 36â in Diameter, per plans and specification (once-every two years)	LF	18,739	\$3	\$56,217
14	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all pipe dimensions, per plans and specifications (once-every two years)	LF	120,641	\$2	\$241,282
15	Remove and dispose of debris from all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$7	\$73,920
16	Inspect, video document (CCTV Inspection), and log conditions after cleaning of all Reinforced Concrete Box (RCB), per plans and specifications (once-every two years)	LF	10,560	\$3	\$31,680
17	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$2,388	\$7,164
18	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #36 (3640WQA) per plans and specifications (annually)	EA	3	\$1	\$3
19	Remove and dispose of debris from Hydrodynamic Separator, model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$2,388	\$2,388
20	Inspect, photo document, and log before and after cleaning conditions of hydrodynamic separators, Model ADS Unit #42 (4240WQA) per plans and specifications (annually)	EA	1	\$1	\$1
21	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$2,388	\$4,776
22	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech 4000 (VX4000) per plans and specifications (annually)	EA	2	\$1	\$2



## Bid details for: Perry, Lydia / United Storm Water, Inc.

Item		UM	Qty	Unit Pricing	Item Total
23	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$2,388	\$2,388
24	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 5000 (VX5000) per plans and specifications (annually)	EA	1	\$1	\$1
25	Remove and dispose of debris from Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$2,388	\$2,388
26	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model 9000 (VX9000) per plans and specifications (annually)	EA	1	\$1	\$1
27	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS60 per plans and specifications (annually)	EA	1	\$2,388	\$2,388
28	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Vortech Model Vortsentry VS60 per plans and specifications (annually)	EA	1	\$1	\$1
29	Remove and dispose of debris from, Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$2,388	\$2,388
30	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Model Vortech 11000 (VX11000) per plans and specifications (annually)	EA	1	\$1	\$1
31	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$2,388	\$2,388
32	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Vortsentry VS70 per plans and specifications (annually)	EA	1	\$1	\$1
33	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$2,388	\$4,776
34	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 7000 (VX7000) per plans and specifications (annually)	EA	2	\$1	\$2
35	Remove and dispose of debris from Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$2,388	\$2,388



## Bid details for: Perry, Lydia / United Storm Water, Inc.

#### 1) Storm Drain System Maintenance, Inspections and Related Services

Item		UM	Qty	Unit Pricing	Item Total
36	Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)Inspect, photo document, and log conditions before and after cleaning of Hydrodynamic Separator, Model Vortech Unit 16000 (VX16000) per plans and specifications (annually)	EA	1	\$1	\$1
37	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$2,388	\$2,388
38	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-15000 per plans and specifications (annually)	EA	1	\$1	\$1
39	Remove and dispose of debris from Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per Specifications (annually)	EA	1	\$2,388	\$2,388
40	Inspect, photo document and log condition before and after cleaning of Hydrodynamic Separator, Jensen Precast Storm Water Interceptor Model JPHV-20000 per plans and specifications (annually)	EA	1	\$1	\$1
41	Remove and dispose of debris from Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$2,388	\$4,776
42	Inspect, photo document and log conditions before and after cleaning of Hydrodynamic Separator, Vortech System 1000 (VX1000) per plans and specifications (annually)	EA	2	\$1	\$2
				Subtotal	\$997,293
				Project Total	\$2,552,420

## Subcontractor information for: Perry, Lydia / United Storm Water, Inc.

Subcontractor		License #	Portion	Amount
1	United Pumping Service, Inc. 14000 E. Valley Blvd. Industry, CA	617639	Transportation and Disposal	4%
2	Morr-Is Tested, Inc. 2279 Eagle Glen Pkwy., STE 112-433 Corona, CA	569265	CCTV Inspection	21%



## File attachment details for: Perry, Lydia / United Storm Water, Inc.

File name	Description	Туре	Size	Notes
USW-Bid Response	Additional	pdf	27.1 MB	